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All Candidates' performance across questions

Question Title N Mean SD Max Mark FF Attempt %
1a 6062 0.7 0.5 1 66.4 98.1
2a 6081 1.3 0.8 2 66.3 98.4
2c 5663 4.1 2.3 8 51.1 91.6
3b 5865 0.3 0.4 1 25.3 94.9

4aii 4951 0.4 0.7 2 20.1 80.1
4c 5411 0.4 0.5 1 44.6 87.5
5a 5954 0.8 0.4 1 83.2 96.3
5c 5803 1.3 0.9 2 65.7 93.9
6a 6074 0.3 0.5 1 30.9 98.3
7a 4642 0.4 0.5 1 36.5 75.1
7c 4180 0.2 0.6 2 9.7 67.6
8b 4363 0.2 0.5 2 8.9 70.6
9b 5339 0.7 0.9 2 34.4 86.4
9d 3839 0.3 0.5 1 30.6 62.1
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Sticky Note

Although this candidate has completely the wrong answer, the full method is clearly shown. Therefore, the candidate was awarded M1A0. 






















Examiner
[
4. Gary works at a garage. o
(a) Mr Morgan wants Gary to service his car next week.
This service will take 2 hours.
Mr Morgan will leave his car at the garage before 09:00.
He needs to collect his car before 12:30 on the same day.
Look at the timetable below. The shaded hours show the times when Gary is
already booked to service other cars next week.
Gary does not work during his lunch break, which is between 12:00 and 13:00
every day.
When is the earliest that Gary could start the service for Mr Morgan?
Give the day and the time. [2]
Gary’s timetable for servicing cars
Time Monday Tuesday Wednesday Thursday Friday
09:00 - 10:00
10:00 — 11:00 -
11:00 — 12:00

12:00 - 13:00
13:00 - 14:00
14:00 - 15:00
15:00 - 16:00
16:00 — 17:00

(b) On Tuesday, 7 cars have a service in the garage.
For each service, 4-5 litres of oil are needed.

Another 6 litres of oil are used for all the other jobs in the garage.

What is the total amount of oil needed on Tuesday? [2]
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(d) The garage doorway has a height of 23m.
—
Mr Khan would like to have his campervan serviced

Mr Khan's campervan is shown in the piclure below.
The scale of the picture is 1cm represents 0-4m

Find the actual height of the campervan in metres.

Decide whether or not the campervan will fit under the garage doorway.
You must show all your working.

1cm represents 0-4m

=, Q-4
(Sany Q. &
R4
e o
O (W
« O
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Actual height of the campervan = (A metres

Will the campervan fit under the doorway? Yes :; No





























4(a)(i) Wednesday AND 10:00

B2

Allow Wednesday AND 10:00 — 11:00 or
Wednesday AND 10:00 — 12:00

Award B1 for:
e Wednesday
e Friday AND 09:00 (-10:00 or — 11:00)
e Tuesday AND 14:00 (-15:00 or — 16:00)

4(a)(ii)
(19 + 2 — 15) x 8 =) OR ((21 — 15) x 8=)

48

B2

Award B1 for:

e (‘their 19’ + 2 — 15) x 8 correctly evaluated
provided ‘their 19’ > 13 and ‘their 19’ is seen
on the diagram or clearly stated as the hours
completed without the extra 2 hours

e ((19-15)x8=)32

e ((19+1-15)x8=)40

o (‘their 21’ — 15) x 8 correctly evaluated
provided ‘their 21’ > 15 and ‘their 21’ is seen
on the diagram or clearly stated as the hours
completed with the extra 2 hours

4b)4-5x7+6
37-5 (litres)

M1
Al

4(c) 4500

Bl

4(d) 6(cm) (x2mm)

6 x 0-4 (m)

No AND 2-4 (metres) shown

Bl

M1

Al

(5-8 (cm) to 6-2(cm)) May be seen or indicated on the
diagram or from workings.

FT ‘their 6’ seen or indicated x 0-4 (m) where ‘their 6’
is between 3 and 9 inclusive.

FT their correctly evaluated 2-4 metres compared
with 2-3 metres provided M1 awarded eg
5 x 0-4 (m) = 2(m) and Yes indicated

Answer only of 2.4 (m) and any of the measurements
below with No indicated gets B1 M1 Al

Measurement of:
5-:8 cm gives 2:32 m
5:9 cm gives 2:36 m
6 cm gives 2:4 m
6-1 cm gives 2-:44 m
6-2 cm gives 2:48 m

If no workings shown and answer not from the list
above, award SC1 for:
e 2m, 2.04m, 2.08m, 2.12m, 2.16m, 2.2m,
2.24m, 2.28m and YES
OR
e 2.52m, 2.56m, 2.6m, 2.64m, 2.68m, 2.72m,
2.76m, 2.8 and NO

(These values come from 5cm to 5.7cm and 6.3cm to
7cm)

OR
e 2.5mand NO

© WJEC CBAC Ltd.
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(d) The garage doorway has a height of 23m.
—
Mr Khan would like to have his campervan serviced

Mr Khan's campervan is shown in the piclure below.
The scale of the picture is 1cm represents 0-4m

Find the actual height of the campervan in metres

Decide whether or not the campervan will fit under the garage doorway.
You must show all your working.

m -_— -““ "
[ ]

2 - 23 I
‘9D ©°

1cm represents 0-4m

(3]

(Sea a

FFEFF

L o)
Actual height of the campervan = L]/ metres

Will the campervan fit under the doorway? Yes :; No




Sticky Note

This response was seen several times from candidates. They measured the height of the campervan as 5cm rather than 6cm. The candidates forgot to measure the height from the bottom of the wheels to the top of the campervan and only measured from the bumper upwards. 

The candidate was awarded B0M1A1. 




























(d) The garage doorway has a height of 2:3m.
Mr Khan would like to have his campervan serviced.

Mr Khan’s campervan is shown in the picture below.
The scale of the picture is 1 cm represents 0-4m.

Find the actual height of the campervan in metres.
Decide whether or not the campervan will fit under the garage doorway.
You must show all your working.

1cm represents 0-4m

Actual height of the campervan = ... Metres

Will the campervan fit under the doorway? Yes No

(3]
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(c) What is the difference between the lengths of Caceres's 2nd and 5th jumps? [2]

cacexed hed a4 Smat 2 Whgh'
on Y 2ad gumf ont R sra has
Ao At .




























5(a) Gayle

Bl

Do not accept 8-46 but accept Gayle and 8.46

5(b) 7-03

Bl

Check the scoreboard

5(c) 795 -6-31 or 795 - 631

1.64(m) or 164 (cm)

M1

Al

Allow any indication of attempting to find the
difference between 7.95 and 6.31
If units are given they must be correct

5(d)

Position

Name

1Sl

Gayle

2nd

Henderson

3rd

Echevarria

B1

Ignore any measurements given with the names

6(2)

£3.80

Bl

6(b) 4 hours 20 minutes

B3

For B2 or B1, allow costs seen within repeated
additions linked with the appropriate time

B2 for sight of any of the following:

e 260 minutes

e £5.40 for 4 hours or for 240 minutes

e ((E5.80-£3) +40p =) 7 seen or implied with
7 lots of 20 minutes considered

e 140 (minutes) (= 2 hours 20 minutes)

e afinal answer of 2 hours 20 minutes in the
answer space

B1 for sight of any of the following:

e £4.20 for 3 hours or 2 hours 60 minutes,
allow for 2.60

e (£5.80-£3=)£2.80

e (E5.80-£3)+40p(=7)

e ((E5.80-£3)+40p=)7
allow for 7 provided it is not from incorrect
working, it should be derived from 7 lots of
40p on to the £3, e.g. 7 lots of 40p. Ignore
further incorrect working once awarded, such
as an answer of 7 hours

7(a) 130 < energy < 140

Bl

Accept unambiguous indication, e.g. 130 — 140
Allow e.9.130,140’, ‘130 140’

Do not accept the values 130, 140, 18 or a choice
between the group and the frequency

7(b) Total of 37 (energy bars)

1+4+12
37

17
37

Bl
M1

Al

FT ‘their 37’ provided > ‘their 1+4+12’

Also allow one error in misreading 1 frequency, which
impacts consistently on ‘their denominator’ and
possibly ‘their numerator’

Only FT ‘their 37’ provided
e ‘their 37’ is 36 or 38 or 39
or
e ‘their 37’ is clearly from an addition error in
calculatingl +4 + 12 +18 +2

ISW for incorrectly simplifying their fraction
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(c) What is the difference between the lengths of Caceres's 2nd and 5th jumps? [2]

cacexed hed a4 Smat 2 Whgh'

own. ¥ e P
Ao bt .



Sticky Note

Some candidates do not understand that the word difference in a mathematical context means to subtract and wrote descriptions of how the lengths differed. 

This candidate was therefore awarded M0A0. 
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Exami
5. One of the events in the World Athletics Championships is the men’s long jump. X?,:}'yner
In the final, the top 8 competitors are allowed 6 jumps each.
The person who jumps the furthest, out of all the jumps, wins the competition.

The scoreboard below shows the results of the 2019 competition.
All the measurements are in metres.

A foul jump is recorded as X.

When a competitor decides not to jump, it is recorded with a dash (-).

The length of Henderson’s 4th jump is missing from the scoreboard.
Competitor 1st Jump 2nd Jump 3rd Jump 4th Jump 5th Jump 6th Jump
Echevarria 825 814 834 8-30 791 X
Samaai 811 815 8:23 X X 8:06
Henderson 828 818 8-39 813 817
Jianan X 7-89 8:05 X X 820
Caceres 8:01 6-31 X X 7-95 X
Hashioka 7-88 7-89 7-97 7-82 X 770
Gayle 8-46 X X 8-69 - -
Manyonga 816 8-05 818 810 814 8-28

() What is the difference between the lengths of Caceres’s 2nd and 5th jumps? 2]
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(b) Elin paid £5.80 to park her car in Castell Car Park.
What is The maximum length of time that Elin has paid for?
Give your answer in hours and minutes.
You must show all your working. [3]

4 32.00. for.2hous.

5.80 s and emes.

Maximum length of timeis ............... hours ... ... minutes











(b) Elin paid £5.80 to park her car in Castell Car Park.
What is the maximum length of time that Elin has paid for?
Give your answer in hours and minutes.
You must show all your working.

[31
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Maximum length of time is _. b\ .. hours .. ZO

. minutes























5(a) Gayle

Bl

Do not accept 8-46 but accept Gayle and 8.46

5(b) 7-03

Bl

Check the scoreboard

5(c) 795 -6-31 or 795 - 631

1.64(m) or 164 (cm)

M1

Al

Allow any indication of attempting to find the
difference between 7.95 and 6.31
If units are given they must be correct

5(d)

Position

Name

1Sl

Gayle

2nd

Henderson

3rd

Echevarria

B1

Ignore any measurements given with the names

6(2)

£3.80

Bl

6(b) 4 hours 20 minutes

B3

For B2 or B1, allow costs seen within repeated
additions linked with the appropriate time

B2 for sight of any of the following:

e 260 minutes

e £5.40 for 4 hours or for 240 minutes

e ((E5.80-£3) +40p =) 7 seen or implied with
7 lots of 20 minutes considered

e 140 (minutes) (= 2 hours 20 minutes)

e afinal answer of 2 hours 20 minutes in the
answer space

B1 for sight of any of the following:

e £4.20 for 3 hours or 2 hours 60 minutes,
allow for 2.60

e (£5.80-£3=)£2.80

e (£5.80-£3)+40p (=7)

e ((E5.80-£3)+40p=)7
allow for 7 provided it is not from incorrect
working, it should be derived from 7 lots of
40p on to the £3, e.g. 7 lots of 40p. Ignore
further incorrect working once awarded, such
as an answer of 7 hours

7(a) 130 < energy < 140

Bl

Accept unambiguous indication, e.g. 130 — 140
Allow e.9.130,140’, ‘130 140’

Do not accept the values 130, 140, 18 or a choice
between the group and the frequency

7(b) Total of 37 (energy bars)

1+4+12
37

17
37

Bl
M1

Al

FT ‘their 37’ provided > ‘their 1+4+12’

Also allow one error in misreading 1 frequency, which
impacts consistently on ‘their denominator’ and
possibly ‘their numerator’

Only FT ‘their 37’ provided
e ‘their 37’ is 36 or 38 or 39
or
e ‘their 37’ is clearly from an addition error in
calculatingl +4 + 12 +18 +2

ISW for incorrectly simplifying their fraction
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(b) Elin paid £5.80 to park her car in Castell Car Park.
What is The maximum length of time that Elin has paid for?
Give your answer in hours and minutes.
You must show all your working. [3]

4 32.00. for.2hous.

5.80 s and emes.

Maximum length of timeis ............... hours ... ... minutes




Sticky Note

Many candidates at the Foundation Tier only achieved 1 mark in this question for subtracting £3 from £5.80 to get £2.80. Many candidates did not know what to do next. This candidate has confused units and thinks that the £ are hours and minutes. 

This candidate was awarded B1 for sight of £2.80. 










(b) Elin paid £5.80 to park her car in Castell Car Park.
What is the maximum length of time that Elin has paid for?
Give your answer in hours and minutes.
You must show all your working.

[31

(3 - z OIS
{380 - 72 ne 0w
{80 - 2\ WO

,w (oo - i’>nr ZOmm

{< uo - Uns
<%0 - Wnfs..20. wan

Maximum length of time is _. b\ .. hours .. ZO

. minutes




Sticky Note

This candidate was awarded full marks (B3) for their correct response of 4 hours and 20 minutes. The candidate has set out their method and workings in a simplistic, logical way and has arrived at the correct answer without any difficult calculations to do. They actually thought of the problem in terms of what some people may do in real life. 
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Castell Car Park

Parking charges
£3 for the first 2 hours, or part of the first 2 hours

AND after that
40p for every further 20 minutes, or part of each 20 minutes

Maximum stay is 24 hours

(b) Elin paid £5.80 to park her car in Castell Car Park.
What is the maximum length of time that Elin has paid for?
Give your answer in hours and minutes.
You must show all your working. [3]

Examiner
only
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10. People travel by bus or by irain from Hiraddug Station.
On Tuesday, 420 people travelled by bus from the station,
Of thie 420 people who travelled by bus from the station, 35% had a traval pass.
Calculate the number of people who iravelled by bus and did not have a travel pass.

A5, o _uw20=83 sSIaw8s

33...Peome  datind, VSyE O TONEeN PO











10. People ravied by bus or by train frorm Hiraddug Station.
S S o
stationERRMERIERAG P,

 Calculate the number of people who travelled by bus and d not have a ravel pass.  [3]
L ﬂ g
4]& .| . “IZ “j-"/ﬂ NPT i SR,

At 5%+ £r.

“AZAgZHEZEEAT "*L_ A
[35% < 7 peopie)























9(a) 18 (9) Bl
9(b) 15-125 or 5 x 0.5 M1
2.5 (cm) Al
9(c) Sight of 20 (cm) Bl
(Wingspan ininches is) 12 x 20+ 30 or 20 x 0.4 M1 | Allow 20 + 2.5 or equivalent
8 (inches) Al | CAO
9(d) Positive (correlation) B1 | Do not accept a description
9(e) An answer in the inclusive range Bl
18.5 (cm) to 22.5 (cm)
10. 420 -420 x 35+ 100 (=420 — 147) M2 | M1 for any one of
or (100 —35) x 420 +100 e 420 x35+100
_ o sightof 42 +42 + 42 + % of 42
or equivalent e sight of 147
273 (people) Al
3310U10-1 WJEC GCSE Numeracy — Unit 1 FT MS S22/CB
6
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10. People travel by bus or by irain from Hiraddug Station.
On Tuesday, 420 people travelled by bus from the station,
Of thie 420 people who travelled by bus from the station, 35% had a traval pass.
Calculate the number of people who iravelled by bus and did not have a travel pass.

A5, o _uw20=83 sSIaw8s

33...Peome  datind, VSyE O TONEeN PO




Sticky Note

There were many candidates at the Foundation Tier that were unable to calculate 35% of a quantity using 10% and 5% values. As seen by the first clip, several candidates just divided by 35 or some even subtracted 35 from 420.

 This was awarded M0A0. 










10. People travid by bus o by train from Hiraddug Station.
e S o
Saton RN I .

_:ﬁ__ﬂf?-_ Az=lo% ‘ff'_
At it 2 BNk 47

TATHLZHEZTUEAT "if A
[35% = A7 geopie)




Sticky Note

For those candidates that were able to find 35% of 420 successfully, they did not re-read the question to see if they had answered it fully so many left their answer as 147 (35% of 420) instead of then subtracting 147 from 420.Very few candidates found 65% of 420.

This candidate was awarded M1M0A0.  
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only

10. People travel by bus or by train from Hiraddug Station.

On Tuesday, 420 people travelled by bus from the station.
Of the 420 people who travelled by bus from the station, 35% had a travel pass.

Calculate the number of people who travelled by bus and did not have a travel pass.

END OF PAPER
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Tickets for the show are sold for £8 each.

not make a loss when putting on the show?
You must show all your working.

[6 +2 0CW]
HITQ OF Ao han coat:x.\.Qx.s;H)O_ o o
ostumes-A350

PRnnng RCKexs - 460
SOk Ok uqnmoy ngwpmmt LG40
Totoo\ Q0O
.. j g% e
; i,[‘leo B

What is the smallest number of tickets that must be sold so that the drama group does

The Smonkst AUMber of KChurs. Khak sust b
SO 18 QA0 bekgxs:





























WJEC GCSE MATHEMATICS - NUMERACY

SUMMER 2022 MARKING SCHEME

Unit 1: Foundation Tier

Mark

Comments

1. @ (3,1)

Bl

Answer line takes precedence
Allow (03, 01)
Do not accept (3X, 1Y)

1(b) (-2,-3)

Bl

Answer line takes precedence
Do not accept (-2X, -3Y)

2(a) 8 (loaves of bread)
200 (grams of butter)
12 (tins of tuna)
56 (tomatoes)

B2

Award B1 for 2 or 3 correct
Lines for answers take precedence over working
space.

If no marks, award SC1 for all values evaluated
accurately using a consistent multiplier which is >2.

2(b)  Cylinder

Bl

2(c)
(Hall hire charge =5 x 10 =) (£)50

(Total costs) (£)50 + (£)250 + (£)60 + (£)400
(E)760

(Number of tickets need to sell) (£)760 + (£)8

95

B2

M1
Al

M1

Al

Award B1 for
e 5 (hours)
e ‘their hours >1’ x 10 evaluated correctly
e Multiple of 10 (but not 10) which is then used
in their total costs (and is extra to the given
£60)

B1 or B2 marks may be seen in the total costs.

FT ‘their (£)50’

FT ‘their (£)760’ including (£)710 (without hall costs)

On FT their answer must be a whole number rounded
up if necessary

Organisation and communication

Writing

oC1

w1

For OC1, candidates will be expected to:

* present their response in a structured way

* explain to the reader what they are doing at each
step of their response

* lay out their explanations and working in a way that
is clear and logical

« write a conclusion that draws together their results
and explains what their answer means

For W1, candidates will be expected to:

« show all their working

» make few, if any, errors in spelling, punctuation and
grammar

» use correct mathematical form in their working

* use appropriate terminology, units, etc.

© WJEC CBAC Ltd.
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Tickets for the show are sold for £8 each.

not make a loss when putting on the show?
You must show all your working.

[6 +2 0CW]
HITQ OF Ao han coat:x.\.Qx.s;H)O_ o o
ostumes-A350

PRnnng RCKexs - 460
SOk Ok uqnmoy ngwpmmt LG40
Totoo\ Q0O
.. j g% e
; i,[‘leo B

What is the smallest number of tickets that must be sold so that the drama group does

The Smonkst AUMber of KChurs. Khak sust b
SO 18 QA0 bekgxs:




Sticky Note

This candidate knows the processes that are required to answer this question and has dealt with the number of hours for the hire and the hire costs correctly. They also have the correct total costs. The candidate has set up the division correctly but unfortunately decides to do 8 ÷ 7 is 1 remainder 1 for the first part of the calculation resulting in the candidate then needing to do 16 ÷ 8 rather than 76 ÷ 8. 

The candidate was awarded B1B1M1A1M1A0 and OCW2 as workings and labels are evident throughout. 




























(c) Inthis part of the question, you will be assessed on the quality of your organisation,
communication and accuracy in writing.

The local drama group is putting on a show in the community centre hall.

The hire charge for the hall is £10 per hour.
The hall will be needed from 17:00 to 22:00.

The total costs of the event are:
e hire of the hall
e costumes: £250
e printing tickets: £60
e sound and lighting equipment: £400.
Tickets for the show are sold for £8 each.
What is the smallest number of tickets that must be sold so that the drama group does

not make a loss when putting on the show?
You must show all your working. [6 +2 OCW]

Examiner
only
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3. Rhodri is organising his son's birthday party.
He decides to give every child a bag.

There will be 19 children at the party.
A party bag costs £2.98 to prod

(a) Estimate how much Rhodri

19.%.35 5/ cbinte) .
AN

4%3=1#

o o

l





























3(a) 20x(£)3 OR 19x(£)3 OR 20x (£)2.98 M1 | Allow 20 x(£)2.95 OR 20 x (£)2.90
(£)59 OR (E)58
()60 OR (E£)57 OR (£)59.60 Al | Ignore Subsequent working if an estimate is seen
3(b) Overestimate indicated and correct suitable E1 | Allow
reason given e.g. ‘because you estimate to nearest 10’
FT appropriate judgement based on their estimate
‘Because 20 is more than 19 and (£)3 is more than seenin (a)
(£)2.98 e.g., 20 x (£)2.50 and underestimate given with
‘Because | rounded 2.98 up to 3’ reason as ‘2.50 is less than 2.98’, award MO AO in (a)
‘Because | rounded it up’ and E1 in (b)
‘Rounded 98p to £1°
‘Rounded it up to the nearest whole number’ Allow statements that only refer to one value being
‘Because | rounded both numbers up’ estimated where both values have been rounded up.
‘Because the real numbers are less than the ones
| used’ Do not accept
‘Because my bags are 2p more than the party bags’ ‘Because | am over the real price’
‘There are only 19 bags and | used 20’
FT from allowed estimates in part (a) with ‘can’t tell’
and a suitable reason given e.g., ‘one is rounded up
and the other rounded down.’
If () is not attempted but a correct estimate for (a) is
seen in (b) with appropriate judgement indicated and
correct reason award E1
2
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3. Rhodri is organising his son's birthday party.
He decides to give every child a bag.

There will be 19 children at the party.
A party bag costs £2.98 to prod

(a) Estimate how much Rhodri

19.%.35 5/ cbinte) .
AN

4%3=1#

o o

l




Sticky Note

Although this candidate does calculate the actual cost of the party bags in part (a), they also calculate the estimate which is labelled clearly. They then use this estimate to reason that it is an overestimate in (b). This candidate was awarded full marks for both parts of the question. 




























Examiner

[
Rhodri is organising his son’s birthday party. o
He decides to give every child a party bag.

There will be 19 children at the party.
A party bag costs £2.98 to produce.

(@) Estimate how much Rhodri will spend on producing party bags. [2]

(b) Is your estimate an underestimate or an overestimate?

Underestimate Overestimate Can't tell

Give a reason for your answer. [1]
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(b} Dﬂdememnmnﬂﬂw '}i
each service, 4-5 lires of oll are needed, Ii’
Anather 6 litres of oil are used for all the other jobs in tha garage 37
What is the total amount of oil needed on Tuesday? e ¥l
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4(a)(i) Wednesday AND 10:00

B2

Allow Wednesday AND 10:00 — 11:00 or
Wednesday AND 10:00 — 12:00

Award B1 for:
e Wednesday
e Friday AND 09:00 (-10:00 or — 11:00)
e Tuesday AND 14:00 (-15:00 or — 16:00)

4(a)(ii)
(19 + 2 — 15) x 8 =) OR ((21 — 15) x 8=)

48

B2

Award B1 for:

e (‘their 19’ + 2 — 15) x 8 correctly evaluated
provided ‘their 19’ > 13 and ‘their 19’ is seen
on the diagram or clearly stated as the hours
completed without the extra 2 hours

e ((19-15)x8=)32

e ((19+1-15)x8=)40

o (‘their 21’ — 15) x 8 correctly evaluated
provided ‘their 21’ > 15 and ‘their 21’ is seen
on the diagram or clearly stated as the hours
completed with the extra 2 hours

4(b)4-5x7+6
37-5 (litres)

M1
Al

4(c) 4500

Bl

4(d) 6(cm) (x2mm)

6 x 0-4 (m)

No AND 2-4 (metres) shown

Bl

M1

Al

(5-8 (cm) to 6-2(cm)) May be seen or indicated on the
diagram or from workings.

FT ‘their 6’ seen or indicated x 0-4 (m) where ‘their 6’
is between 3 and 9 inclusive.

FT their correctly evaluated 2-4 metres compared
with 2-3 metres provided M1 awarded eg
5 x 0-4 (m) = 2(m) and Yes indicated

Answer only of 2.4 (m) and any of the measurements
below with No indicated gets B1 M1 Al

Measurement of:
5-8 cm gives 2-:32 m
5:9 cm gives 2-36 m
6 cm gives 2:4 m
6-1 cm gives 2-:44 m
6-2 cm gives 2:48 m

If no workings shown and answer not from the list
above, award SC1 for:
e 2m, 2.04m, 2.08m, 2.12m, 2.16m, 2.2m,
2.24m, 2.28m and YES
OR
e 2.52m, 2.56m, 2.6m, 2.64m, 2.68m, 2.72m,
2.76m, 2.8 and NO

(These values come from 5cm to 5.7cm and 6.3cm to
7cm)

OR
e 25mand NO
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Sticky Note

This candidate has successfully calculated 7 lots of 4.5 but has forgotten to add on the 6. This was seen frequently. Unfortunately, this was awarded M0A0 as it was not the full method. 


































































































































































































































































































































(@

Sandwiches are made for people at a community centre.
One Saturday, the following ingredients were used to make sandwiches for 10 people.
2 loaves of bread
50 grams of butter
3 tins of tuna
14 tomatoes
Next Saturday, there will be 40 people in the community centre.

Complete the list below to show the ingredients needed to make sandwiches for the 40
people. ? [2]

Sandwiches for 40 people:
.0:2 icaves of bread
" O'B . tins of tuna
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WJEC GCSE MATHEMATICS - NUMERACY

SUMMER 2022 MARKING SCHEME

Unit 1: Foundation Tier

Mark

Comments

1. @ (3,1)

Bl

Answer line takes precedence
Allow (03, 01)
Do not accept (3X, 1Y)

1(b) (-2,-3)

Bl

Answer line takes precedence
Do not accept (-2X, -3Y)

2(a) 8 (loaves of bread)
200 (grams of butter)
12 (tins of tuna)
56 (tomatoes)

B2

Award B1 for 2 or 3 correct
Lines for answers take precedence over working
space.

If no marks, award SC1 for all values evaluated
accurately using a consistent multiplier which is >2.

2(b)  Cylinder

Bl

2(c)
(Hall hire charge =5 x 10 =) (£)50

(Total costs) (£)50 + (£)250 + (£)60 + (£)400
(E)760

(Number of tickets need to sell) (£)760 + (£)8

95

B2

M1
Al

M1

Al

Award B1 for
e 5 (hours)
e ‘their hours >1’ x 10 evaluated correctly
e Multiple of 10 (but not 10) which is then used
in their total costs (and is extra to the given
£60)

B1 or B2 marks may be seen in the total costs.

FT ‘their (£)50’

FT ‘their (£)760’ including (£)710 (without hall costs)

On FT their answer must be a whole number rounded
up if necessary

Organisation and communication

Writing

0oC1

w1

For OC1, candidates will be expected to:

* present their response in a structured way

« explain to the reader what they are doing at each
step of their response

* lay out their explanations and working in a way that
is clear and logical

« write a conclusion that draws together their results
and explains what their answer means

For W1, candidates will be expected to:

» show all their working

» make few, if any, errors in spelling, punctuation and
grammar

» use correct mathematical form in their working

* use appropriate terminology, units, etc.
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Sandwiches are made for people at a community centre.
One Saturday, the following ingredients were used to make sandwiches for 10 people.
2 loaves of bread
50 grams of butter
3 tins of tuna
14 tomatoes
Next Saturday, there will be 40 people in the community centre.

Complete the list below to show the ingredients needed to make sandwiches for the 40
people. ? [2]

Sandwiches for 40 people:
.0:2 icaves of bread
" O'B . tins of tuna
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Sticky Note

This candidate thought that they needed to divide each given quantity by 40. As shown in their workings this was quite inconsistent with them sometimes dividing into 40 or using 40 as the divisor. 
This candidate was awarded B0. 




























Examiner
[
2. (a) Sandwiches are made for people at a community centre. o

One Saturday, the following ingredients were used to make sandwiches for 10 people.
2 loaves of bread
50 grams of butter
3 tins of tuna
14 tomatoes
Next Saturday, there will be 40 people in the community centre.

Complete the list below to show the ingredients needed to make sandwiches for the 40
people. [2]

Sandwiches for 40 people:
............................................ loaves of bread
............................................ grams of butter
............................................ tins of tuna

............................................ tomatoes
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